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Y )Y.Y THE CREATION OF PAPER CURRENCY

In economics, money is an asset that provides its owner with ultimate liquidity. That is, the
owner of money is able to purchase goods and services with this asset without incur-ring additional
transaction costs. We shall define money as consisting of currency and’ demand deposits,
although other assets also provide their owner with a high degree of liquidity.

Currency is composed of both coins and paper currency. In the United States, we have
token coins and fiat paper currency. Token coins arise when the issued coin is not worth its
face value as a commodity. Thus, token coins do not include an amount of metal equal to the face
value of the coin. Credit or fiat paper currency arises when there is no commodity backing the
issue.

Examples © through Vv demonstrate various ways the government could change the quantity
of fiat paper currency.

EXAMPLE ©°. Paper currency is printed by the government and given to households. Households
receive an asset, paper currency. The government increases a liability, paper currency. The
balancing entry forthe household and government sectors is good will.

HOUSEHOLD SECTOR GOVERNMENT SECTOR

Assets Liabilities Assets Liabilities
Paper currency + | Good will + Good will +| Paper currency +

EXAMPLE 1. The government creates paper currency and uses it to purchase goods and
services from the business sector. The business sector changes the composition of its assets, giving
up goods and services for paper currency.  The government sector increases the quantity of goods
and services it receives byissuing a liability, paper currency.
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BUSINESS SECTOR GOVERNMENT SECTOR
Assets Liabilities Assets
Liabilities
Goods & services - Goods & services + | Paper currency+
Paper currency +

EXAMPLE V. The government issues paper currency in exchange for government securities
owned by the household sector. The household sector changes the composition of its assets from an
interest-bearing  gov- ernment liability to a non-interest-bearing  government liability. There is a
similar change in the liabilities of the government sector.

HOUSEHOLD SECTOR GOVERNMENT SECTOR
Assets Liabilities Assets Liabilities
Government securities - Government securities -
Paper currency + Paper currency +

As a general rule, the government creates additional paper currency by purchasing government
securities (Example V). This method is classified as a monetization of debtsince the government
is exchanging interest-bearing  for non-interest-bearing debt. Creation of paper currency by the
outright ~ purchase of goods and services (Example 1) was used only during the Civil War.
Currency  creation has never taken the form of Example ¢ although some abstract economic
theories assume this method.

Let us now consider the effect of currency creation upon the level of money income. (We shall
assume that the household sector receives additional paper currency in exchange for government
securities.) If households decide to hold the increased supply of paper currency, there is no effect
upon the level of spending and therefore no change in the level of money income. In this case, the
increased money supply is completely offset by an equal increase in the demand for money. However,
if households spend the larger currency bal- ances or lend them to the business sector, the level of
money income rises as consumption plus investment spending increases.  Of crucial importance, then,
is the behavior of those who receive the additional paper currency.  This is treated in Chapter Y.
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